American Gas Association

Voters believe natural gas is

key to moving America towards

a cleaner energy future.

Voters believe climate change is a pressing problem
and natural gas is part of the solution.

\|/

ARG N
qlE Ok

/)N
/0% 84% 70%
of voters report they of voters agree that the

of voters agree
are concerned about natural gas industry natural gas is a clean
climate change. should continue playing a energy source.
role in reducing emissions.

Voters want climate change solutions that
balance affordability and reliability.
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82%

of voters feel America’s
climate change solutions
should consider affordability.

83%

of voters agree natural gas is a
reliable energy source, especially
during inclement weather.

America’s natural gas and vast energy delivery infrastructure are essential to meeting our nation’s
greenhouse gas emissions reduction goals. By including natural gas, advanced fuels and the
industry's world class infrastructure, we can expand opportunities to slash emissions, unleash
greater innovation and enhance energy reliability. Learn more at www.aga.org/netzero.

Voters support investment in
the research and development
of innovative energy sources.

/7%

of voters feel that Congress
should invest in research for new
clean energy technologies.

oY 77%

of voters support clean energy
solutions that use our existing
energy infrastructure.

Voters agree that natural gas is
important to our energy mix.

O 83%

agree the natural gas industry is an
important part of America's economy.
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of voters indicate they have a more
favorable impression of natural gas after
hearing that 92% of natural gas used in
America is produced in America.

Methodology: This poll was conducted between December 21-December 23, 2021 among a sample of 2000 Registered Voters. The interviews were conducted online and the data were weighted to
approximate a target sample of Registered Voters based on gender, educational attainment, age, race, and region. Results from the full survey have a margin of error of plus or minus 2 percentage points.



